ATUVLAHTBYER - EBYERRER

| 452 |MESH | M B |mrs| B2 |4 | R |VMESH|# B |mnx| E2| £ | R |MesH|#BE x| EE| || #RZE[MESH|#EE |max|EE
E| 2 2 [107 [710%[378| |FE| 1.1 | 6 |3.13|548%|356 | || 0.6 | 12 |1.52 |51.3%|2.12 | |IF=|0.29]| 28 |0.62 |46.3%|1.15
(19| 2 [10.8 [72.3%[354 A 6 [3.23]583%/294 | [F|057[ 12 [155|534%|1.80( [F=]| 0.4 [ 30 |0.45 |27.8%|2.35
116 2 |11.1]764% 251 J£10.95| 6 |3.28|602%|266 | || 0.5 | 12 [1.62 [583%1.47 | [J=]0.34| 30 [0.51 [35.8%|1.70
(15 ] 2 [11.2[77.8%[2.20 109 | 6 [333]620%238 | [J=10.47[ 12 [1.65]605%|1.23 | [J=|0.29[ 30 |0.56 |43.2%[1.24
1161221995 |742%|2.76 | [F£[ 0.8 | 6 |3.43]658%|1.88 | |I=10.45]| 12 [1.67 [620%[1.19 | [F£[0.25] 30 [0.60 [49.7%]0.92
[ 2 125 |8.16 [645%[4.72 J£10.75| 6 [3.48|67.7%[1.65 | [J=]0.43[ 12 [1.69 |635%|1.04 [ [J=|0.,22| 30 |0.63 |54.8%[0.71
119125 1826 (661%443 | [FE[ 0.7 | 6 [353]697%|1.44 | || 0.4 | 12 [1.72 |658%[0.94 | [J=[0.18] 30 |0.67 |62.0%|0.48
(16125 (856 [71.0%3.14 J£10.66| 6 [358|716%[1.24 | [J£10.37[ 12 [1.75|68.1%|0.80 | [J=|0.29[ 32 |0.50 [40.3%|1.32
115125 1866 |727%276 | [FE[ 06| 6 [363]737%|1.06 | || 0.8 | 14 [1.01 [31.3%[4.39 | [F£[0.25] 32 |0.54 |46.9%]0.98
(12125 (896 [77.8%[1.75 I 1.1 16,5 [281]516%386 | [J=10.75] 14 [1.06 |344%|3.86 | [J=|0.22[ 32 |0.57 [52.2%|0.76
I 1.1 125|906 |795%1.48 | [J£[0.95] 6.5 |2.96 |57.3%|2.88 | |I=| 0.7 | 14 [1.11 [37.7%[3.36 | [J£[0.25| 35 [0.48 [43.0%|1.07
L 2.5 19.16 [81.3%[1.23 J£1 0.9 | 6.5 [301]592%[258 | [J=10.65] 14 [1.16 |41.2%]2.90 | [J=|0.22[ 35 |0.51 [48.6%|0.83
I 2 3 [6.47 [58.3%[5.67 | |IJ=] 0.8 | 6.5 |3.11 |63.2%|2.04 | |J=| 0.6 | 14 [1.21 [448%[2.47 | |[J=|0.29| 36 [0.42 |34.7%|1.48
(19| 8 [657[60.2%]5.31 J£10.75] 6.5 [3.16 |653%[1.79 | [J=10.567( 14 [1.24 |47.0%[2.09 | [J=|0.29[ 40 |0.345 [29.5%|1.65
1.6 3 [6.87[658%3.77 | [JE]| 0.7 | 6.5 [3.21 [674%1.56 | || 0.5 | 14 |1.31 |525%[1.72 | [$£[0.29]| 40 |0:345|29.5%|1.65
1 15| 3 |6.97|67.7%3.31 J210.65] 6.5 |3.26 |695%|1.35 | |J=|10.47| 14 [1.34 [54.9%1.43 | [IJ=[0.25| 40 [0-385[36.8%|1.23
1121 83 [727]737%]2.10| |3FE[ 0.6 | 6.5 |3.31 [71.6%]1.15( [F|10.45] 14 |1.36 [565%|1.39 | |IF£|0.23]| 40 [0.405|40.7%|1.04
111 3 |737|757%1.78 | [J£[0.57] 6.5 |3.34 |73.0%|0.97 | |IF=10.43| 14 [1.38 [58.2%[1.21 | [F£[0.22]| 40 [0415[42.7%|0.95
E[ 1 3 [747]7784[1.47] [FE[ 1.1 7 [253[486%[415]| [F£][ 0.4 [ 14 [1.41 [e08%[1.10| [FE[0.21] 40 [o.425 [448%[0.86
) 2 18,2594 |560%605| [JE[ 08| 7 |283]608%220 | |IJ=|0.37]| 14 [1.44 [634%[0.94 | [J=[0.18] 40 [0455|51.3%|0.64
[11.9]3.2[604]579%/566| [F|0.75] 7 12.88[62.9%]1.93| [F£]0.34| 14 [1.47 |660%[0.79 | |[TE[0.16] 40 0475 [56.0%|0.50
[ 15| 8.2 |6.44 [65.8%[3.53 (065 7 298 |674%[1.45| |3£[0.29] 14 [1.52 |706%)0.58 | [F=(0.14] 40 |0.495]60.8%|0.38
1.1 (3.2 [6.84[742%(1.90 | [JE£] 0.6 | 7 [3.03[69.7%[1.24 | || 0.7 | 16 |0.89 |31.3%[3.84 | [$£[0.25| 50 |0.258 |25.8%|1.53
| 1 13,2694 |764%157 | [J£[0.67] 7 13.06|71.1%)1.05 | |F=|0.65]| 16 [0.94 [34.9%(3.31 | [F£[0.22]| 50 [0-288 [32.1%[1.19
J£10.95]| 3.2 |16.99 |775%|142 | [JE[ 1.2 | 8 |1.98]387%|561 | || 0.6 | 16 [0.99 [387%[2.82 | [J=[0.18] 50 [0-328 [41.7%]0.79
(19|85 [5.36 [545%[6.20 i1 8 (208 [427%[4.75 | |F£10.67]| 16 |1.02 |41.1%[2.39 | |3£[0.16] 5O |0.348 [46.9%[0.63
d£1 1.6 | 3.5 |5.66 [608%)4.39 [ | [ 1 8 218[469%|3.92( || 05| 16 |1.09 [46.9%|1.96 | |I=|0.14| 50 [0.368 | 52.5%|0.48
1.5 (3.5 (576 [629%3.86 | [J£|0.95] 8 [2.23 [49.1%[3.54 | ||0.47| 16 |1.12 [49.6%[1.64 | [$5(0.23| 60 |0.193 |20.9%|1.56
d£1 1.2 135 (606 [69.7%)245 | |F=[ 09| 8 228 [51.3%|3.18 | [J=|0.45] 16 |1.14 [51.3%)1.59 | [J=|0.18]| 60 [0-243|33.0%[0.95
{11185 [6.16 [72.0%[2.08 (08| 8 |2.38(56.0%[251 | |3E[0.48] 16 |1.16 |53.2%)1.39 | [F(0.14| 60 |0.283 | 44.8%|0.58
L 35 |6.26 [74.3%[1.72 J£10.75| 8 [2.43]583%[220 | [J=1 0.4 [ 16 [1.19 |56.0%[1.26 | [J=|0.12[ 60 |0.303 |51.3%|0.42
| 2 4 [4.35]46.9%|7.56 (07| 8 |248|608%[1.92| |3E[0.837] 16 |1.22 |588%|1.07 | [F=|0.14| 65 |0.251 |41.2%|0.62
(1.9 ] 4 [445[49.1%[7.08 J£10.66| 8 [253]63.2%[1.66 | [J=10.34| 16 [1.25|61.8%/0.91 | [J=|0.14[ 70 |0.-223 |37.7%|0.67
116 4 |475]560%502| [FE[ 06| 8 258 ]658%1.41 | |F=10.29]| 16 [1.30 [66.8%[0.66 | [F=[0.12] 70 [0.243 |44.8%|0.49
(15| 4 [485[58.3%4.41 (0,57 8 [261[67.3%[1.20 | |F=[0.25] 16 |1.34 |71.0%]0.49 | [#£|0.18]| 80 [o.138 [ 18.8%[1.27
FE[1.2] 4 [515]658%[2.80 | [F|0.53] 8 [2.65[694%]1.07| [F£] 0.6 | 18 [0.81 |330%[3.18 | [TE£[0.14] 80 |o0.178 [31.3%|0.77
SE[1.1] 4 [525]684%(237| [3E| 05| 8 268 [71.0%]098 (| [3£|0.57| 18 [0.84 |355%(2.69 | [T£[0.12] 80 |o.198 [38.7%|0.57
1 4 [535[71.0%/1.96 | |3|0.47] 8 [2.71 [726%[082 | [3FE[ 0.5 [ 18 |0.91 |41.7%]2.21 | || 0.1 | 80 |o0.218 |46.9%0.39
JE(0.95] 4 |5.40 [72.3%[1.77 J£1045| 8 [273]73.7%[0.79 | [J=10.47( 18 [0.94 |445%|1.84 | [J=] 0.1 [ 90 |o.182 |41.7%[0.44
109 4 [545[73.7%(159 | [FE] 0.8 | 9 [2.02[51.3%]2.82 | |F|0.45] 18 |0.96 |46.4%[1.79 | [§$£(0.12]| 100 |0.134 | 27.8%|0.71
J£10.83| 4 |552|756%|1.32| [J£[0.65] 9 [2.17]592%|1.86 | |I=|0.43]| 18 [0.98 [48.3%[1.56 | [T=[0.11] 100 [o-144 [32.1%]0.59
08| 4 |555]764%/1.26| [FFE[1.2 ] 10 [1.34 2784701 | || 0.4 | 18 [1.01 [51.3%[1.41 | [FE[ 0.1 [ 100 [o.154 | 36.8%| 0.49
|l 1 [4.21505[69.7%|2.06 [ |J=| 1.1 [ 10 |1.44 [32.1%]5.93 [ |T=|0.37| 18 [1.04 [54.4%[1.20 | [#E[ 0.1 [ 120 |o.112 [27.8%|0.59
1 1.6 1451404 |51.3%565| [F[ 1 10 |1.54 |36.8%]4.90 | |I=|0.34] 18 [1.07 [57.6%[1.02 | [T£[0.08] 120 |o.132 | 38.7%|0.38
115145 |414(539%/496 | [J£[0,95] 10 |1.59 |39.2%|4.43 | |IJ=|0.29| 18 [1.12 [63.1%[0.74 | [J=[0.08] 130 [0-115 |34.9%|0.41
1 1.2 145 [4441620%)3.15 | |FE[ 0.9 | 10 |1.64 [41.7%])3.97 | |[F|10.25] 18 |1.16 [67.7%]0.55 | |3 |0.065] 150 [0.104 | 38.0%|0.31
1 1.1 145 |454|648%2.67 | [J=[ 0.8 | 10 |1.74 |469%|3.14 | |IF=|0.57| 20 [0.70 [30.4%(2.99 | [TF=[0.06] 150 |o-109 |41.7%|0.26
119 5 [3.18]39.2%/885 | |3E[0.75] 10 |1.79 [49.7%]2.76 | || 0.5 | 20 |0.77 [36.8%|2.45 | |3=|0.05]| 165 [0.104 | 45.6%|0.20
116 | 5 |348469%628 | [J=[ 0.7 | 10 |1.84 |525%|2.40 | |IF=|0.47] 20 [0.80 [39.7%[2.05 | |TJ=[0.05] 180 |0.091 |41.7%|0.22
1 15| 5 |3.58]49.7%5.51 F10.65] 10 [1.89 [554%[2.07 [ |F=[0.45] 20 |0.82 [41.7%]1.99 | [#%]0.058] 200 [0.069 |29.5%|0.31
112 5 |3.88]583%350| [F=[ 0.6 | 10 |1.94|58.3%|1.77 | |I=|0.43]| 20 [0.84 [43.7%[1.73 | [T=[0.053| 200 |0.074 | 34.0%|0.30
11 5 13.98 [61.4%[2.97 J£10.57] 10 [1.97 |602%[1.50 | [J=| 0.4 | 20 [0.87 |46.9%|1.57 | [J=]0.05[ 200 |0.077 | 36.8%|0.25
1 5 [4.08 [645%[2.45 | |IJ=|10.53] 10 |2.01 |626%|1.34 | |3|0.37| 20 |0.90 |50.2%|1.34 | |IJ=10.04| 200 |0.087 | 46.9%)0.16
J1095] 5 |4.13 ]66.1%2.21 05| 10 [204 [645%[1.23 [ |F=[0.34| 20 |0.93 |536%|1.13 | [#%£]0.05] 220 [0.065 [32.1%[0.27
109 5 [418[67.7%[1.99 | [F]0.47] 10 [2.07 [664%[1.02 | |TF=[0.29[ 20 |0.98 |59.5%|0.82 | [#%|0.04]| 250 [0.062 |36.8%|0.20
J£(0.83] 5 [4.25[70.0%[1.65 J£10.45] 10 [2.09 |67.7%[0.99 | [J£]0.25[ 20 [1.02 |645%|0.61 [ [J=]0.03[ 250 [0.072 |49.7%[0.11
1 0.8 5 |4.28[71.0%157 F10.43] 10 [2.11 [69.0%[0.87 [ |F=[0.45] 22 |0.70 |37.2%|2.18 | [£%]|0.04| 300 [0045 [27.8%]0.24
JE(0.75] B [4.33 [72.7%[1.38 E10.4 ] 10 [214 [71.0%[078 | |[F=[0.29] 22 [0.86 |56.1%|0.91 | [#%]0.035]| 325 [0.043 [30.5%(0.19
1071 5 438 [743%)1.20 F10.57] 11 [1.74 [56.7%[1.65 [ |F=[0.45] 24 |0.61 |33.0%|2.38 | [#%£]0.03| 350 [0.043 [34.4%[0.15
(1.6 ] 5.5 [3.02[427%]6.90 A 12 [1.12 [27.8%[5.88 | [J=[ 0.4 | 24 [0.66 [38.7%|1.88 | |#%£]|0.03[ 400 [0.034 [27.8%[0.18
1 1.5 [5.5[312[456%[6.06 | [F£]0.95] 12 [1.17 [304%[5.31 | |T£[0.37[ 24 |0.69 |42.3%|1.61 | [§%]0.026]| 450 [0.030 [29.1%0.14
| 1.2 [ 5.5 [342[548%(385 | [FE| 0.9 | 12 [1.22 [330%4.77 | |TE|0.34| 24 |0.72 |46.1%|1.36 | |§E[0.025| 500 [0.026 |25.8%|0.15
1.1 [5.5[352[580%(3.26 | || 0.8 | 12 [1.32 [38.7%[3.77 | |T=[0.29( 24 |0.77 |52.7%|0.99 | [#%£|0.02]| 635 [0.020 [250%|0.12
(16| 6 [2.63[387%753 J210.75] 12 11.37 [41.7%[3.31 | |3E[0.25] 24 [0.81 |58.3%|0.74 | [J=|0.016[ 795 |0.016 | 24.9%| 0.09
SE| 15| 6 |23 |at7w]661 | [T 0.7 | 12 [1.42 [448%/288 | [FE£][0.22] 24 [0.84 [62.7%] 0.57 [ZSUS3163L

(12 6 [3.03[51.3%[4.20 J2(0.65] 12 |1.47 |48.0%[2.49 | |3£[0.29] 25 |0.73 |51.1%] 1.03
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